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Question Number : 1 Question Id : 27028219237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:
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Options :

To prepare students to pass examination
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To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
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The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.
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Improve the physical standard of the students.
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Help all round development of the students.
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Inculcate value system in the students.
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Generally the most effective approach dealing with the child's aggressive behaviouris
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Options :

to channel his/her aggression mto legitimate areas of competition.
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to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.

eD/esd) SrH BHESD Ho )50t 508 (YN (Biemrseen sa%d



to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
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Which of the followmng statement is not correct with regard to lecture method in teaching?
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Develops reasoning
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LImproves knowledge
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It 1s one way process
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In this Method students are passive
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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"A diagram speaks more than 1000 words." The statement means that the teacher should
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Options :

use diagrams in teaching.

Bad ot i o afin A Wy
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.
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not speak too much in the class.
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Which of the following is not a main task of research in modern society?
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Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
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to systematically examine and critically analyse.
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The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
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Options :

Historical research
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Action research

Experimental research

BErREE D08

Case study
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The experimental study is based on:
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Options :

The manipulation of variables

v 36@5}@5& @BnE) shEr5H

Conceptual parameters
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Replication of research
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Survey of literature
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Question Number : 9 Question Id : 27028219245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
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Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
185D (23&SchEo
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.

58880 Hbore aegroresh S8 o03Eo

Survey of related literature
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Identification of problem
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Searching for solutions to the problem
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Question Label : Comprehension

Read the passage and answers the question from 11 to 15:

By the mid-nineteenth century, mass production of paper patterns, the emergence of the home
sewing machine. and the convenience of mail order catalogues brought fashionable clothing into
the American home. By the early twentieth cenfury. home economists working in extension and
outreach programs taught women how to use paper patterns to improve the fit and efficiency of
new garments as well as how to update existing ones.

Teachers of home economics traditionally made home sewing a critical part of their curriculum.
emphasizing self-sufficiency and resourcefulness for young women. However. with the increasing
availability of mass-produced clothing in catalogues and department stores. more and more women
preferred buying garments to making them. As a result. home economists shifted their attention to
consumer education.

Through field study, analysis and research. they became experts on the purchase and preservation
of ready-to-wear clothing for the family. offering budgeting instruction targeted at adolescent girls.
Moderm home sewing made it possible for American women to transcend their economic differences
and geographic locations with clothing that was increasingly standardized. The democratization of
fashion continued through the twentieth century as the ready-to-wear market expanded and home
sewing became more of a pastime than a necessity.
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How did home sewing help American women?

Do Bty edbES Hirdol der SBahndoh?
Options :

They became field analysts and researchers.

) T PG DFehen Hdakn HOEen edit.
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They went beyond economic boundaries.
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They found good jobs.
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They became excellent teachers.
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What improved the fit and efficiency of new garments?
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Sewing maclunes
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Mass production
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Paper patterns
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What were the skills that were emphasized for young women?
cndhe 55 T°8) Baynd Jdemgen dnd?

Options :

Selt-confidence and self esteem
@é@ 3]%’25?60 sobBain @éé B0

1. %

Self-sufficiency and resourcefulness
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Resourcefulness and self-confidence
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Prudence and resourcetulness.
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Who became experts on the purchase and preservation of ready-to-wear clothing
for the fanuly?
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Options :

Owners of department stores

1 % Garlotn thevere dhassirioen

Field-study analysts
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Young women
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Teachers of home economics
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Who was the target group?
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Options :

Young women
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School children
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Adolescent girls
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Working women
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The following are the barriers to effective communication except one. Find it out.
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1. Bypassing
&SR0
Proper encoding
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3. Frame of reference
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4 Physical distraction
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Psychological interference
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6. Emotional interference
e Ol £7550

7 Cultural differences
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The right code is:
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A teacher should have good communication skills. He / she will be a good communicator if
he/she

28 Kt ot Sogrip SDee BOA 605, 98D [ w3 2.8 508 QrFHEmT sokérdd:
Options :

Asks questions about his / her classroom

wédD [ @D SEKS K 1960 BHEen ethiberth.

Helps students to score good marks / grades
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Helps students to ask relevant questions
$000BS (HHOD ©ENErdE Dughed [EPayarrt

Uses and provides mnstructional material
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Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Bots mi EH6S° Toth D samon. (80 (A) Hbdh suo (R) ef) bedatisa.
Assertion (A): Women are depicted in a negative way m the media.

(HE6S (A) : DBairs® Hirfod Haremis Sltgéﬁﬁ D@gGoT.

Reason (R): Media has furned completely unethical in modern times.

80 (R): shboie athdE seod® Jrom egdore Srosfonod.
Options :

Both A and R are true. R is the correct explanation of A

A $0cin R Botir deso, R &dB A @) 5B Dt

Both A and R are true. R is not the correct explanation of A

A 5bc%n R Bor 923059, R &dd A Gng) 585 D588 soth

A 1s false. R 1s true

A &33p, RQes0

Aistrue. Ris false
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Correct Marks : 2 Wrong Marks : 0
What is ‘Synchronous Media?”
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Options :

Printed media

1 % (2085 &aie

Media providing information about the issues and events
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Live telecast

Media in digital enviromment
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Mr. Ajay completed MA Economics. He 1s going to attend an interview, He dressed for the

occasion. This 1s an example of communication,
0 D olo.o) BET0 v, odH 8 soblrgh el ST oD
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Non-verbal
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Emotional
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The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,
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Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they

run in opposite directions. When they run in same direction. a person in the faster

train observes that he crossed the other tramn i 32 seconds. The lengths of the two

trams are (in meters)
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In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there m the factory?
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The missing number in the sequence : 6. 14, 36. 98. 15
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Options:
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BUTTER is coded as 123345 then the code for TUBE 1s
‘BUTTER® ‘123345 1 56 ToHG08. e@H 1 'TUBE' o0 86
Options:
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Missing group of letters in the following
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As ‘BDEG’ 1s related to ‘DFGI’ so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & $02)0¢%:30 03¢, @3 DA™ ‘HEMO’ & $02508580
Options :

INOQ

1. %

, « TMOP

3.v IMOQ

INLP
4. =
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Which among the following statements is correct based on the following Venn

diagram

808 IS VS0 SO0 [2edeinrede AR

Options :

| x Some X'sarenot W. (503 X e Wen 5D )

, % some Y'sarenot W. () Yen Wensdn)

» X'sareY's. (XenYen).

4V Wisarenot Z. (WenZew 5¢w)
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The odd one among the following is

80O TS AR, 2.8 VOO NOoWE

Options :



Rose ( (D ey3) )

5 % Lotus ( @o08)

3 Orange (0°002 )

4w Lilly (5e0)
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g

. There are three married couples m a famuly of three generations. A 1s grandson of H;

G 1s the mother m law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?
P ST 50EN00ET, WP DFEre 20N G aN. A, H B0E), e G
@6 € G3nE) 9; D o000 E &FSen. B, E Ghod) 3oee0; F, D BoE), H6& B
Sotocen (sister in law), B, C G30%), 505, B G & der Hoaoo?

Options :

1 = Daughter (Boeedd D)

- Wife (23°8§)

5  Grandson (e0IED)



. cimeh
4 % Daughter in law (5Caew)
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Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.

2.4 9% 2020 57885 © 5008, 2.8 26D FB% ey A, B, C, D B0 E @ 2058
2rge3of estord Gng) HBHe (HABND, 808 Bod SETd dtuwod Fod

BIDEI0. Jokd D b b éJDFSSmeSﬁ oty 308 Ao Bibe ek Hrod. HEAM
BOdS 26260 (296 36T @) S35 O 0D TN O Db ArdN08. ()6

et @) SF5S O SR, HO0H 87 7S OF DAHAD eerr HEiHe Fnddw,
& 26D T F0ea HHHOS 90% 9T,

Sub questions
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Correct Marks : 2 Wrong Marks : 0
The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo

Options :
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The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10



L%
L]
LIS
LIPS
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By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?

Options :

1. % 10
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In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E
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In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
Options :

1% 2177



2_ W

3 % 55.00

4. 6l.11

Sub-Section Number : 8
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Which device i1s required for the Internet connection?

!

]

&y

& s Al e =yt oy o i
2066583 e0:onrR8 o) HBEBo eddo

Options :

Joystick

Modem

2. OGeD

D Drive

P!

n

30
£
[=]
L&



NIC Card

n

3.6, 8. =50
L

-

A

4. %
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Junk e-mail is also called

E o i i e iy £ B oo TN et
2305 B—aHONS £ dHorr Brd Denaed.

Options :

spam

D
LaF ot B
@

spoof

S0V

o

snifter script

b B3

3. %
spool
S
4. %
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Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP
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Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.

Options :

mdex.doc
aoiﬁ%. wE

1. #



mndex html
ao(ﬁgrj. AT TN Y ]

index ppt

3 % 50855y 20

imndex dot

5086y &otd
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ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB

E- education

4 E”-.—Sjtﬂé

Sub-Section Number : 9
Sub-Section Id : 2702821418
Question Shuffling Allowed : Yes

Is Section Default? : null
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Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
1.9 =

Magnesium and boron

~ s Bl - - .-RE 1=
?‘J;&_&Oﬂ:u, 270w



Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead

4% Srércdho, Hdo
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Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L
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Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.

=%

Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040
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The EL Nino disappears in March and re-appears in

306 Y eS8 wodrdnHEod. HBAM JHH HIBEEHHHOB.



August

= ﬁ c:;l

October

.

AP
.o_;:::ﬂ EA.,"TJ

December

o =
G080
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Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a

5 % l-c, 2-b. 3-a. 4-d

3 % 1-d. 2-b. 3-c. 4-e

4 1-d. 2-e. 3-a. 4-b

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

List-II

10

(25E-2)

&
Water Pollution
80 SPeNso
Bhopal tragedy
Goard Dapdo
Noise Pollution
WRARSEOVES e
Ozone Depletion
5,8°% Sihse
Global Warming

&orEr0

2702821419

Yes

null
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The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based

- S)B,8HHES

Values based

> Dende r8HOSH

Skalls based

w . 5 o i
% D)EFTNO (aPSDHOES

All the above
= B

olodod
i,

4. =
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According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?

UDQ': g.;; i \:’::.L n.xcl |c>.1? g &-:u P\."Eﬁb i"a\‘:é 1,"—‘_" »‘_Lc\ oo \.J&



Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo
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Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration

R o, P,
eeiSéd (Deribared Do
L

A

Administrative Staff College of India

gt HBareN 38m Serere



L.B.S. National Academy of Administration

e 4 = i By af TN -
ePHTLErOTR erach Hbares esetidh
3.¢

Centre for Advanced Studies

4 % ol eidhore Solio

Question Number : 49 Question Id : 27028219287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council

. J58S IS w0k ABEBAS TS
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Which of the following fype of universities cannot award deg:rees

(Bod =8 e“tﬁa 8 DefgEd Hoobotld ay‘:Pu adeRE el ) drrgediren

Options:

State University

o

e
ot .:'i,%' &mtﬂri goo

—
¥
40

H

Private University

p

e S v LT -eh

AFN Ay a,lﬁn:mcrv_:.;@cﬁlah
¥ i

Deemed to be University

&5& DEDoegecho

None of the above

__'a aJa) qET
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The function that establishes a social connection without really
communicating any
meaningful information is referred to as

Options :

| Phatic function

5 % Emotive function

3 % Conative function

Poetic function
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Chomsky’s book, “Lectures on Government and Binding”. was published in
Options :

1981
1.4

, % 1972



1965

1957
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B.F. Skinner’s theory of learning 1s

Options :

Behavioural theory
1.+

>, % Rational theory

Cognitivists theory
3, #®

Mentalist theory
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Correct Marks : 2 Wrong Marks : 0

Which one of the following terms is coined by Ferdinand de Saussure ?

Options :

Competence

5 Parole

3 % Language

Performance
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A Forensic Linguist studies

Options:

| » structure of languages.

. how languages are represented in the brain.

2.

3. % relationships between linguistic behaviour and psychological processes.



analysis of language of written or recorded documents to help solve crimes,
4.
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Find the order in which these areas have appeared.

a. Descriptive Linguistics
b. Prescriptive grammar
c. Neurolinguistics

d. Sociolinguistics

Options:

a.d.b.c

b.a.d.%
2

2 Mb‘a.c.d

a-b.ec.d
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Location of speech and referent do not matter in the use of language.
Which property of languages does this statement refer to?

Options :

- Arbitrariness

Interchangeability

3 @ Displacement

Denotation
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An example of a Tonal language 1s

Options :

Kannada

> % Oriya



Bodo
3.

4% Hindi
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Syntagmatic relationship 1s

Options:

- Substitutive relationship

5> « Co-occurrence relationship

- Type-token relationship

Linear relationship
4, &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Telugu writing system is based on

Options :

Syllables

1. #

, % Phonemes

Segments
3. ¢

Features like place of articulation
4. %
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Which one of the following 1s NOT a communicative function as given by Roman
Jakobson?

Options :

Emotive
1. =

, Conative



Phatic

Emphatic
4. &

Question Number : 62 Question Id : 27028219300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
‘IC” in IC Analysis refers to

Options:

Internal Constituent

Immediate Categories

Immediate Constituent

Internal Categories

Question Number : 63 Question Id : 27028219301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Deixis refers to:
Options :

Space

Time

3 « Both time and space

Manner

Question Number : 64 Question Id : 27028219302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The number of sounds in the word ‘pneumonia’ in British English is:

Options :

% 10



3. 4

Question Number : 65 Question Id : 27028219303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The English sounds [s] and [z] are phonemes as they are in
Options :

Mutually exclusive environments

1. =
Complementary distribution
2. %
Free variation
3_ w
Contrastive distribution
4.

Question Number : 66 Question Id : 27028219304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0
The IPA symbol [y] represents
Options:
Back close rounded vowel

1. %

Front close rounded vowel

Back open unrounded vowel

Front open rounded vowel

Question Number : 67 Question Id : 27028219305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The production of the fricative /f/ involves:
Options :

_— Upper lip and lower teeth

, % Tongue and alveolar ridge



3 % Two lips and vocal chords

Upper teeth and lower lip
4.

Question Number : 68 Question Id : 27028219306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a semi-vowel in English?

Options:
Iwi

1.¢

2. % /€

3. %

4. %

Question Number : 69 Question Id : 27028219307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
Which one of the following words has a syllabic consonant?

Options :

Mutton
1.9

Post

Pollen

Treasure

Question Number : 70 Question Id : 27028219308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The number of syllables in the English word ‘cinema’ 1s

Options :



4. ®

Question Number : 71 Question Id : 27028219309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Formants are resonating frequencies occurring in the
Options :

vocal tract
1.4

pharyngeal chamber

oral chamber

subglottal chambers

Question Number : 72 Question Id : 27028219310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



We can distinguish /b.d.g/ from each other on the basis of

Options :

Voicing

Place of articulation

Manner of articulation

Aspiration

Question Number : 73 Question Id : 27028219311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

. ‘Level ordering’ is found in

Options:

| % Metrical Phonology

Lexical Phonology
2. ¥

3 % Autosegmental Phonology



Optimality Theory
4. ®

Question Number : 74 Question Id : 27028219312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

. Which of the assertions 1s true?

Assertion 1: Aspiration creates phonological variation in most Indian
languages.

Assertion 2: Aspiration creates allophonic variation in English.

Options:

_— Assertion 1

> % Assertion 2

Both the assertions are false.

4o Both the assertions are true.

Question Number : 75 Question Id : 27028219313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No



Correct Marks : 2 Wrong Marks : 0
The word ‘spree’ consists of;
Options:

| % coda and onset i that order

, % nucleus. coda and onset in that order

3 @ onset and nucleus in that order

onset. nucleus and coda in that order

Question Number : 76 Question Id : 27028219314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The phonemic features that play a crucial role in distinguishing
phonemes from one
another are called

Options:

Morphemic features

> % Phonetic features

3 ¢ Distinctive features



Prosodic features

Question Number : 77 Question Id : 27028219315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

.The concept of ‘practical phonemics® was propounded by

Options :

1 ¢ Kenneth Pike

, « Noam Chomsky

M. Halle
3_ W

C.F. Hockett
4, %

Question Number : 78 Question Id : 27028219316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



‘Which one of the following vowels has the features: [+high]. [-back]. [-
round]?

Options :

u/

Question Number : 79 Question Id : 27028219317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match the linguists in List 1 with the theories of phonology in List 2.

List 1 List 2
a. Paul Kiparsky 1) Autosegmental Phonology
b. Mark Liberman 11) Optimality Theory of Phonlogy
¢. John Goldsmith 11) Lexical Phonlogy
d. Alan Prince and Paul Smolensky 1v) Metrical Phonology
Options :
a-1 b-1  c-u1  d-iv

a= 11 bt eav d-m



a-111 b-iv ¢4 d-11

4 % a-ii b-11 c-1v  d-1

Question Number : 80 Question Id : 27028219318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The pronunciation of the Telugu word [kaarlu] “cars” as [kaalmu] is an example of

Options :

Assimilation

Metathesis

Epenthesis

Dissimilation

Question Number : 81 Question Id : 27028219319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Tableau’ 1s used in

Options :

Autosegmental Phonology

1. %
5 Lexical phonology
Metrical phonology
3. %
Optimality Theory
4.

Question Number : 82 Question Id : 27028219320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The process of affixation in which the meaning of the word after affixation
changes
15 known as

Options :

Inflection
’| . )



5 % Prefixation

3 % Suffixation

Derivation
4.

Question Number : 83 Question Id : 27028219321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The word ‘burger” 1s derived from the word ‘hamburger” and this
process of word
formation 1s called

Options :

Abbreviation

> % Blending

Clipping

Compounding



Question Number : 84 Question Id : 27028219322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

After an inflection. to a word.

Options :

a derivational affix can be added

another inflection can be added

5 « Dboth derivational and inflectional affixes can be added

4 neither derivational nor inflectional affix can be added

Question Number : 85 Question Id : 27028219323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The word. ‘shopaholic’ 1s an example of

Options :

1 Blending



Contraction

2. %
Abbreviation

3. %
Shortening

4, %

Question Number : 86 Question Id : 27028219324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Statement 1: English plural morpheme has [s]. [z] and [1z] as allomorphs.
Statement 2: [z] can be the underlying plural morpheme in English.

Options:

Both the statements are false
1. %

v Both the statements are true.

Only the statement 1 1s true.
3. %

Only the statement 2 1s true.
4. %

Question Number : 87 Question Id : 27028219325 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A null morph has

Options :

meaning but no phonetic form
1.4

> % phonetic form and meaning

no phonetic form and meaning

phonetic form but no meaning

Question Number : 88 Question Id : 27028219326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The forms give, gave, given, gives, giving are

Options :

1 % five words and five lexemes.

> « five words belonging to one lexeme.



3 % five lexemes belonging to one word.

4 % five types belonging to one token.

Question Number : 89 Question Id : 27028219327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The past tense of see is saw. which 1s

Options :

phonologically conditioned

morphologically conditioned

grammatically conditioned

semantically conditioned

Question Number : 90 Question Id : 27028219328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Spaceship 1s a compound of the type

Options :

1. % Appositional

Exocentric

Endocentric
3

Bahuvrihi

Question Number : 91 Question Id : 27028219329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Morphemes in languages are difficult to separate
from
each other in a word.

Options :

| Fusional



Agglutinative

2. %
Inflectional
3. v
Oligosynthetic
4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 92 Question Id : 27028219330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s NOT an allomorph of the English
negative in-?

Options :
| dis-

2. F il'

3 8 il"

-
4. ®



Question Number : 93 Question Id : 27028219331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The distinction between ‘sense’ and ‘reference’ 1s due to
Options :

Rudolph Carnap

Gottlob Frege

J.L. Austin

Noam Chomsky

Question Number : 94 Question Id : 27028219332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

In truth conditional semantics the denotation of a transitive verb like
‘love’ 15

Options:

set of entities



, o aset of ordered pairs of entities

5 « a function from entities to truth values

a set of truth values

Question Number : 95 Question Id : 27028219333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Consider (1) and (i1). and decide which of the statements that follow is
frue

(1) Pentails Q
(1) Pentails R
Options :

Q necessarily entails R
1. %

« Q does notentail R

Q may or may not entail R
3.¢

J entails B
“ Q



Question Number : 96 Question Id : 27028219334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

An example of a one-place predicate in English 1s
Options :

high
1. ¢

o % may

hit

give

Question Number : 97 Question Id : 27028219335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The English pair beary-barey is an example of

Options :

homophony
1.+



homonymy

homography

polysemy

Question Number : 98 Question Id : 27028219336 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

In the sentence John allowed Bill to carry his luggage, his can refer to
Options :

Bill’s. but not John’s

2 ® John’s. but not Bill's

either John's or Bill's

3, #

John's or Bill's or some other (male) person’s
4. &

Question Number : 99 Question Id : 27028219337 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The ambiguity in (1) below 1s an example of.... ambiguity.
(i)Every student has to submit hwo term papers in a semester.

Options :

lexical

2 « scopal

semantic

Directional

Question Number : 100 Question Id : 27028219338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Consider sentences (1) and (11), and based on their meaning decide
which of the
following statements 1s true.
1) John realized that he was in debt.
1) John did not realize that he was in debt.

Options :



1@ Both (1) and (11) presuppose that John was in debt.

(1) but not (11) presupposes that John was in debt.

(1) but not (1) presupposes that John was 1n debt.

Neither (1) nor (11) presupposes John was in debt.
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Correct Marks : 2 Wrong Marks : 0

P semantically entails Q if and only 1f
Options :

Every situation that makes Q true makes P true

Every situation that makes P true makes Q true

3 % At least one situation that makes P true makes Q true

At least one situation that makes Q true makes P true.



Question Number : 102 Question Id : 27028219340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The following antonyms are anfonyms:
fat : skinny. early : late, dark : light, empty : full. young : old

Options :

Gradable
1.4

Relational
2. %

Complementary

Polar

Question Number : 103 Question Id : 27028219341 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
The English pair here-there 1s an example of ...deixis.

Options:

temporal
1. % e



, « Spatial

3 % Dbersonal

social
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Correct Marks : 2 Wrong Marks : 0

Which among the following is not based solely on the semantic content of an
utterance?

Options:

Implicature
1.4

Entailment

Presupposition

Logical consequence
4. %



Question Number : 105 Question Id : 27028219343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

Speech Act theory is given by
Options :

J. R. Searle

H. P. Grice

J. L. Austin

M. A. K. Halliday
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Correct Marks : 2 Wrong Marks : 0

Which among the following is not a Gricean maxim?

Options :

- Quality



Order
2. %

Quantity
3, #

4% Relevance
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Correct Marks : 2 Wrong Marks : 0

Which among the following is not a performative verb?

Options :

- promise

waril
2. %

3 o think

4 % Dbet

Question Number : 108 Question Id : 27028219346 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The perlocutionary force of an utterance 1s
Options :

. the sum of the word meanings of the utterance

the implied meaning of the utterance

2. %
the effect intended by the speaker
3. %
an effect achieved in an addressee (intended by the speaker or
4. v 1O1).
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Correct Marks : 2 Wrong Marks : 0

Which among the following is not an indexical?
Options :

Chennai
1.4



, s« myself

3 % Yesterday

here
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Correct Marks : 2 Wrong Marks : 0

Benjamin Lee Whorf 1s known for his hypothesis of ...

Options:

linguistic relativism
1.4

language universals
2. #

language as a tool of communication

language variation
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Correct Marks : 2 Wrong Marks : 0

Which among the following does not come under the purview of
Pragmatics?

Options :

., context of language use

interpersonal relations of the interlocuters

3 « etymological meaning of words

honorifics
4, %
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The words ‘girl” and ‘woman’ do NOT share the following feature:

Options :

| w» Female



Human

Adult
3. %

4. % Person
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Generalized Phrase Structure Grammar was mitially proposed by:
Options :

- Gerald Gazdar. Georffrey Pullum. and Ivan Sag

5 % Paul Postal

- Noam Chomsky

4% Joan Bresnan and Ronald Kaplan
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Which one of the following 1s a Case assigner?

Options :

Adverb

1. %

Adjective
2. #

3 « Finite INFL

Noun
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What 1s the grammatical function of the underlined phrase in the following

sentence”?

*S1s1 will be accorded a ceremonial welcome at the Rashtrapati Bhavan on
January 25.”

Options:

Object
1. %



5> v Adjunct

3 » Complement

Subject

4. =
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According to Chomsky (1981). the empty category Wh-trace obeys

Options :

1 % Projection Principle

5 Principle C

Principle B

3. %

Principle A
4. ®
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The sentence. “*Who does Harsha say that marries Sharada?”. violates

Options :

| % Extended Projection Principle

5 @ That-trace Filter

3 % Projection Principle

4 » Case Filter
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The concept. ‘Unambiguous Paths’ 1s proposed by

Options :

Larson
’|_ )

5 % Stowell



. Pollock

Kayne
w
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Which of the following is a raising verb?

Options :

pray
1. =

o« Seem

want
3, #®

ry

-
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Where does a subject occur at S-structure. according to Government and
Binding Theory?

Options :

. o SPEC of IP

2. % Complement of INFL

_SPEC of VP
3. %

4 % Complement of V
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The gap after the word ‘reading’ in the sentence “Which letter did you tear
without
reading?” 1s called

Options :

Parasitic gap
P g

5 % NP trace



pro

PRO
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In which one of the following. the word ‘it” 1s not ‘expletive ir’ ?
Options :

It’s a pity that he can’t join us.

1. #
, x 1t 1s said that the biggest banyan tree 1s in Chennai.
3 It woke up at the crack of dawn.

4 % It’s along way from there to Kanyakumari.
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The main basis for distinguishing Language and Dialect 1s

Options :

Geographical proximity

Mutual intelligibility

3. Speaker-listener relationship

Society
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A situation m which there 1s a chain of dialects, where dialect 1 1s understood
by speakers of dialect 2 and speakers of dialect 3 understand dialect 1 less than
those of dialect 2 and so on 1s called

Options:

Dialect series

,  Dialect continuum



- Language confinuum

Isogloss
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A variety of language used by the people belonging to a particular social
class 1s

Options:

Idiolect

5> « Sociolect

3 % Register

Regional Dialect
4. ®
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The first Dialect Atlas was prepared by
Options :

1 % Mcintosch

Webster
2 . W

3.« Hans Kurath

Jules Gillieron
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When two languages come into contact and one of them with power
influences the other. This mfluence 1s known as

Options :

Adstratal influence

, % Substratal influence



3« Superstratal influence

4% Prestratal influence
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“He bussed the miss™ 1s an example of

Options :

Dissimilation

Metathesis

Epthesis

Spoonerism
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According to Labov. ‘vernacular’ refers to

Options :

1@ The least self-conscious style of speech

5 % A non-standard variety

3 % A regional variety

Consciously monitored speech
4, %
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Language convergence occurs in geographic areas with

Options :

1 % More than one language

5 « two or more languages in prolonged contact



two or more languages that inherited linguistic features from the same
- proto-language

4w two or more unrelated languages in contact
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Cognates are the words that

Options:

, occur in the same language

occur in different languages
are similar in sound and meaning occurring in genetically related
3.« languages

are phonetically similar words occurring mn languages belonging to
4 = different language families
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The term. ‘communicative competence” was coined by

Options :

Noam Chomsky

Dell Hymes
<

3 % William Labov

Richard Hudson
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Indian subcontinent is considered as a ‘linguistic area’ because of

Options :

1. » common features found in languages due to inheritance

diffused features found in languages
2. #



common features found in languages due to geographical

3. v contiguity

common features found in languages due to convergence
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A person suffering from Wernicke's aphasia
Options :
Can neither speak nor comprehend others

1. #

5 Cannot comprehend others

Can comprehend others but can’t speak

Can comprehend others and can speak
4, %
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Interference in Second Language Learning happens mainly due to :
Options :

Lack of L2 speakers
1. %

, « Lack of motivation

Knowledge of L1
3. % =

Formal situation
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Losing one’s first language because of using a foreign language for all
purposes in another country 1s referred to as

Options :

Language interference
1. %

5 % Language shift



Linguistic transfer
3. %

Language attrition
4.
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Generally a child produces a single meaningful word at the age of

Options :

« Six weeks

5> % Three months

. Six months

v One vear
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An error caused by the influence of L1 while learning L2 1s called

Options :

Second language error

,  Interlingual error

3 % Intralingual error

4 = Bilingual error
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A method of language teaching which assumes that learners can learn a second language
simular fo the first language without any help from the knowledge of L1 15 called

Options :

Direct method
1.9

5 % Grammar Translation method



3 % Audio-lingual method

4 % Bilingual method
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Which of the following statements are true?

Statement 1: Isogloss is geographic boundary of a certain Linguistic feature
such as the
use of a morphological feature or a syntactic feature.
Statement 2: Major dialects are typically demarcated by bundles of isoglosses.
such as

the Benrath line that distinguishes High German from the other West Germanic
languages.

Options:

1« Statement 1 is true.

Statement 2 is true.
2. %

3 Both the statements are true.

4 » Both the statements are false.
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Verner’'s law, stated by Karl Verner in 1875, describes

Options :

- historical sound change in the Proto-Germanic language

sound changes in German

a set of regular correspondences between Germanic and Indo-

3 % European languages

. morphological changes in German

Question Number : 142 Question Id : 27028219380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A change in which s or - becomes » when occurs usually between two
vowels or glides 1s referred to as:

Options :



Breaking

Haplology

3 ¥ Rhotacism

Paragoge
" =
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Which one of the following does not belong to North Munda languages?
Options:

1 « Remo

Ho

3 % Santali

4 » Bhumyji
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A situation in which students believe that learning target language
helps them getting a better job, position or status 1s called

Options :

Intrinsic motivation

P Extrinsic motivation

3 % Integrative motivation

. Instrumental motivation

Question Number : 145 Question Id : 27028219383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

According to Lenneberg’s ‘Critical Period Hypothesis'. the period of
language acquisition 18

Options:

1 « A 2to 14 years of age



> %= B. 2to 10 years of age

3 « C.1to10 years of age

D. 1 to 14 years of age
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Continuous assessment refers to evaluation of a student

Options :

A. during internal assessment and a final examination

B. fixed number of times during a course
2. %

C. throughout a course
3. ¥

4% D. in the beginning and at the end of a course.
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The rules we use to form syllables, words and sentences belong to

Options :

1 = Statistical Universals

Formal Universals
2.9

Implicational Universals

Substantive Universals
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For how many major Indian languages the parallel annotated corpora has
been developed in the first phase of ILCI project?

Options:



14

5 % 12

3 ¢ 11

16

Question Number : 149 Question Id : 27028219387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Given below are the tags suggested by LDC for Indian languages.
Match them with their parts of speech.

Tag PoS

a |NP 1 Pronoun

b |VA 11 | Adjective

¢ |PR 11 | Postposition

d |PP 1v | Proper noun

e |JJ A% Auxiliary Verb
Options :

a-1ii, b-11. c-1, d-v. e-1v

1. #

5 % a-1v, b-v. c-1, d-11. e-1il



v a-1v, b-v, c-1, d-1i1. e-11

4 % a-1. b=V, c-1v, d-iil. e-ii
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Which of the following statements is true?

Statement 1: Capitalization can be used to develop NER systems for Indian
languages .

Statement 2: NER is domain sensitive.

Options :

_— Statement 1 1s true.

Statement 2 1s true.
2.

. Both the statements are tiue.

Neither of the statement 1s true.



